
FIRST YEAR HIGHER SECONDARY TERMINAL EXAMINATION
PART - III

CHEMISTRY

Maximum - 60 Scores
Time : 2 Hours

Cool Off Time : 15 Minutes

SAMPLE QUESTION PAPER PREPARED IN CLUSTER MEETING

General Instructions to Candidates:

¢ There is a 'Cool-off time' or 15 minutes in addition to the writing time.

¢ Use the 'Cool-off time' to get familiar with questions and to plan your 

answers

¢ Read questions carefully before answering

¢ Read the instruction carefully

¢ Calculations, figures and graphs should be shown in the answer sheet 

itself.

¢ Malayalam version of the questions is also provided

¢ Give equations wherever necessary

¢ Electronic device except non-programmable calculators are not allowed 

in the examination hall.

hnZymÀ°n-IÄ¡ pÅ s]mXp \nÀt±-i-§ Ä

¢ \nÀ±njvS ka-b-¯n\v ]pdsa 15 an\näv IqÄ Hm^v ssSw D­m-bn-cn¡ pw

¢ IqÄ Hm^v ssSw tNmZy-§ Ä ]cn-N-b-s¸-Sm\pw D¯-c-§ Ä Bkq-{XWw 

sN¿m\pw D]-tbm-Kn-¡ p-I.

¢ D¯-c-§ Ä Fgp-Xp-¶-Xn\v ap¼v tNmZy-§ Ä {i²m-]qÀÆw hmbn-¡ -Ww.

¢ \nÀt±-i-§ Ä apgp-h\pw {i²m-]qÀÆw hmbn-¡ -Ww.

¢ IW¡ v Iq«-ep-IÄ, Nn{X-§ Ä, {Km^p-IÄ F¶nh D¯c t]¸-dnÂ 

Xs¶ D­m-bn-cn-¡ -Ww.

¢ tNmZy-§ Ä ae-bm-f-¯n-epw-\ÂIn-bn-«p-­v.

¢ Bh-iy-apÅ Øe¯v ka-hm-Iy-§ Ä sImSp-¡ -Ww.

¢ t{]m{Km-ap-IÄ sN¿m-\m-Im¯ ImÂ¡ p-te-ä-dp-IÄ Hgn-sI-bpÅ Hcp 

Ce-Ivt{Sm-WnIv D]-I-c-Whpw ]co£ m lmfnÂ Dt]m-bn-Kn-¡ p-hm³ ]mSn-Ã.



(A)  answer any 4 questions from 1 to 5.  Each carries 1 score

1. A species contains 8 protons, 8 neutrons and 10 electrons.  Which of the following will be 

proper symbol of this species?

2. IUPAC Name of an element with atomic number 104 is ______

3. Hybridization of carbon in CH  is _____4

2 3 3( SP,     SP ,     SP ,     SP d)

4. Give an example for acidic buffer.

5. Which among the following is nucleophile 
+ -

(a) NO       b) OH        c) AlCl    d) BF (4x1=4)2 3  3

(B) Answer any 8 questions from 6-15.  Each carries 2 scores

6. Who proposed law of multiple proportion ?  State the law?

7. Calculate the wavelength of second line in the Balmer series of hydrogen spectrum 
-1(R=109677 cm )

8. Which has higher electron gain enthalpy.  Fluorine or chlorine ?  Give reason.

9. Give  reasons for the anomalus behaviour of second period elements.

10. Write down any two postulates of VSEPR theory

11. a) What do you mean by extensive property?

b) Which among the following is NOT an extensive property?

     Mass,     Density,     Volume 

12. Explain common ion effect with example?

13. What is disproportionation  reaction? Give example.

14. Give IUPAC Name of the following compounds

a) b)

15. a) Complete the reaction :

CH -CH -Br  +  Na                  ?3 2

b) Write name of the above reaction (8x2=16)

(C) Answer any 8 questions from 16-25.   Each carries 3 score

16 a) Define empirical formula

b) A compound contains  4.07% Hydrogen 24.27% carbon, 71.65% Chlorine.  Its molar mass 

is 98.96 gram.  What are its empirical and molecular formula?

a)
8

16O 2+ b)
8

18O c)
8

16O 2- d)
8

16O -

CH -CH-CH = CH3 2

OH

Ether



17. a) State de-Broglei concept

b) de-Broglei concept is not significant in the case of a moving Cricket ball. Why? 

18. a) State the modern periodic law 

b) write the general outer electronic configuration of d-blcok elements

c) Which among the following are iso electronic
2+ 2- 3+

     Ca ,    He,      O ,     Al

19. The ionic bond have partial covalent character and the covalent bonds also shows some ionic 

character

a) State Fajan's rule regarding the partial covalent character of an ionic bond

b) Which has greater dipole moment ? NH  or NF  .  Give reason for your answer?3 3

20. a) What is spontaneous process?

b) For the reaction :  4Fe + 3O      2 Fe O .  2          2 3

-1  -1
the entropy change is -549.4 JK  mol   at 298K.  Inspite of the negative entropy change why 

0
the reaction  spontaneous.   Given       H  = -1648KJ/mol

21. Balance the following redox reaction using Ion - electron method in basic medium

22. a) Suggest a suitable method for the separation of a mixture of Aniline and Water

b) How can you detect the presence of nitrogen and chlorine present in an organic compound 

using Lassaign's test?

23. CH -CH=CH  + HBr            A   +   B3 2

a) Identify A and B

b) Write the rule behind the formation of major product.

c) State the rule.

24. a) State Le-Chatlier principle

b) Explain the effect of pressure in the following equilibrium on the basis of Le-Chatelier 

principle?

a) 

b) 

25. a) Draw the Newman projections of the eclipsed and staggared  conformations of Ethan? 

Which among these is more stable? Justify (8x3=24)

(D)  Answer any 4 questions from 26-30.  Each carries 4 score

26. a) Identify the orbital with the following quantum numbers

i) n=1,   l =0

ii) n=3, l = 2

-MnO  4
(aq)

+
-I 

(aq)
MnO2(s)

+ I2(s)

(Major)

(g)
CO  +  3H             CH     + H O2 4 2(g) (g) (g)

N    +   O           2 NO 2 2
(g) (g) (g)



b) State Pauli's exclusion principle 

c) How many unpaired electrons are percent in oxygen atom and name the rule determining it.

27. a) what is bond order?

b) What is the  relation between bond order and bond length?

c) Explain paramagnetic nature of Oxygen using M.O. diagram 

28. a) State Hess's law of constant heat summation.  Illustrate with example.

b) Draw the Born - Haber cycle for the formation sodium chloride.

29. a) What is conjugate acid base pair?

b) An aqueous solution of CH -COONa is basic. Explain?3

H
c) P  of a soft drink is 3.6.  Give the nature of solution?

d) Write the Henderson - Hasselbalch equation for an acidic buffer?

30. Structure of organic compound can be represented in different ways.

i) Give the condensed structure of following compounds.

a) b)

ii) write the position Isomers of compounds with molecular formula C H O3 8

iii) What are metamers? (4x4=16)

 

O



(F) 1 apXÂ 5 hscbpÅ GsX¦nepw 4 tNmZy§ Ä¡ v D¯cw \ÂIpI.  1 amÀ¡ v hoXw

1. Hcp kv]ojoknÂ 8 t{]mt«mWpIfpw 8 \yqt{SmWpIfpw 10 Cet{ÎmWpIfpw AS§ nbncn¡ p¶p. 

C\n¸dbp¶hbnÂ GXmWv Cu C\¯nsâ icnbmb {]XoIw?

2.  BtämanI \¼À 104 DÅ Hcp aqeI¯nsâ IUPAC t]cv ...........................BWv

3. CH se ImÀ_Wnsâ ssl{_nssUtkj³ ................................. BWv4 

2 3 3
( SP,     SP ,     SP ,     SP d)

4. AknUnIv _^dn\v Hcp DZmlcWw \ÂIpI?

5. C\n¸dbp¶hbnÂ \yq¢ntbmss^Â GXmWv

+ -(a) NO       b) OH        c) AlCl    d) BF (4x1=4)2 3  3

(_n) 6þ15 hscbpÅ GsX¦nepw 8 tNmZy§ Ä¡ v D¯cw \ÂIpI.  2 amÀ¡ v hoXw

6.  aÄ«n-¸nÄ s{]mt¸m-Àj³ \nbaw \nÀt±in¨Xv BcmWv? \nbaw hyàam¡ pI.

7. ssl{UP³ kvs]{Î¯nsâ _mÂaÀ t{iWnbnse c­mas¯ hcnbpsS XcwKssZÀLyw 

-1
IW¡ m¡ pI (R=109677 cm )

8.  DbÀ¶ CeIv--t{Sm¬ sKbn³ F³XmÂ¸n DÅXv GXn\v? ̂ veqdn³ AsÃ¦nÂ t¢mdn³? 

ImcWw Fgp-XpI.

9. c­mw ]nco-bUv aqeI§ fpsS At\maekv kz`mh¯n\v ImcW§ Ä \ÂIpI.

10. VSEPR kn²m´¯nsâ GsX¦nepw c­v t]mÌpteäpIÄ FgpXpI

11.  a) FIvÌ³kohv t{]m¸À«n F¶XpsIm­v \n§ Ä F´mWv AÀ°am¡ p¶Xv?

b) C\n¸dbp¶hbnÂ GXmWv FIvÌ³kohv t{]m¸À«n AÃm¯Xv?

     ]nÞw,   km{µX,    hym]vXw

12. tIma¬ Atbm¬ {]`mhw DZmlcWklnXw hniZoIcn¡ pI?

13. F´mWv Unkvs{]m-t¸mÀj-t\-j³ dnbm-£ ³ ? DZmlcWw \ÂIpI.

14. C\n¸dbp¶ kwbpà§ fpsS IUPAC t]cv \ÂIpI

a) b)

15. F) dnbm-£ ³ ]qÀ¯nbm¡ pI:

_n) apIfnepÅ dnbm-£ sâ t]cv FgpXpI (8x2=16)

(kn) 16þ25 hscbpÅ GsX¦nepw 8 tNmZy§ Ä¡ v D¯cw \ÂIpI. Hmtcm¶n\pw 3 amÀ¡ v hoXw

16 F) Fw]n-cn-¡ Â kq{XhmIyw F¶mÂ Fs´¶v \nÀÆNn¡ pI.

_n) Hcp kwbpà¯nÂ 4.07% ssl{UP\pw 24.27% ImÀ_Wpw 71.65% t¢mdn\pw AS-§ n-bn-cn-¡ p-

¶p.  CXnsâ tamfmÀ ]nÞw 98.96 {Kmw BWv. AXnsâ Fw]n-cn-¡ Â kq{X-hm-Iyhpw X·m{Xm 

kq{XhmIyhpw Fs´ms¡ bmWv?

17. F)  Unþt{_m¥n Bibw {]kvXm-hn-¡ p-I.

a)
8

16O 2+ b)
8

18O c)
8

16O 2- d)
8

16O -

CH -CH-CH = CH3 2

OH

CH -CH -Br  +  Na                  ?3 2
Ether



4Fe + 3O      2 Fe O .  2          2 3

_n Hcp Nen¡ p¶ {In¡ äv t_mfnsâ Imcy¯nÂ Unþt{_m¥n Bibw {]m[m\yaÀln¡ p¶nÃ. 

F´psIm­v?

18. F) B[p\nI BhÀ¯\ \nbaw (]n-cn-tbm-UnIv \nb-aw) {]kvXmhn¡ pI

_n) d-blcok aqeI§ fpsS s]mXphmb _mly Cet{ÎmWnIv hn\ymkw FgpXpI

k) Xmsg ]dbp¶hbnÂ GsXms¡ -bmWv  sFtkm Cet{ÎmWnIv Bbn-«p-ÅXv?

2+ 2- 3+
     Ca ,    He,      O ,     Al

19. AtbmWnIv t_m­n\v `mKnI tImhmeâv kz`mhap­v, tImhmeâv t_m­pIÄ Nne 

AtbmWnIv kz`mhhpw ImWn¡ p¶p

F) AtbmWnIv t_m­nsâ ̀mKnI tImhmeâv kz`mhw kw_Ôn¨ ̂ Psâ \nbaw Fgp-Xp-I.

_n) Gähpw henb ssUt¸mÄ samsaâv GXn\mWv? NH  AsÃ¦nÂ NF ? \n§ fpsS 3 3

D¯c¯n\pÅ ImcWw Fgp-Xp-I.

20. F) F´mWv kzbtahbpÅ (kvs]m-t­-\n-b-kv) {]{Inb?

_n)                                              Cu dnbv£ -\nÂ, 

-1 -1
298K - Xm]-\n-e-bnÂ þ549.4JK mol  BWv F³t{Sm¸n amäw. s\Käohv F³t{Sm¸n 

0
amäap­mbn«pw {]XnIcWw kzbtah kw`hn¡ p¶Xv F´psIm­v?  (    H  = -1648KJ/mol 
\ÂInbncn¡ p¶p)

21. t_knIv aoUn-b-¯nÂ Atbm¬ þ Cet{Îm¬ coXn D]tbmKn¨v C\n¸dbp¶ dntUmI-vkv dnbm-

£ ³ _me³kv sN¿pI

22. F) A\nen³, shÅw F¶nhbpsS an{inXw thÀXncn¡ p¶Xn\v A\ptbmPyamb Hcp coXn 

\nÀt±in¡ pI

_n) emssk³ sSÌv D]tbmKn¨v Hcp HmÀKm\nIv kwbpà¯nÂ ss\{SP³, t¢mdn³ 

F¶nhbpsS km¶n[yw \n§ Ä¡ v F§ s\ Is­¯m\mIpw?

23.

F) A, B F¶nh Xncn¨dnbpI

_n) {][m\ DÂ¸¶¯nsâ cq]oIcW¯n\v ]n¶nse \nbaw FgpXpI.

kn) \nbaw {]kvXmhn¡ pI.

24.  F) seþNmävenbÀ XXzw {]kvXm-hn-¡ p-I.

_n) seþNmävenbÀ XXz¯nsâ ASnØm\¯nÂ Xmsg ]dbp¶ k´penXmhØbnÂ 

k½À±¯nsâ {]`mhw hniZoIcn¡ pI?

a)

b)

25. F) CussY\nsâ ÌmtKÀUv, F¢n]vkvUv A\p-cq-]-§ -fpsS \yqam³ s{]mP£ \pIÄ 

hcbv¡ pI? CXnÂ GXmWv IqSpXÂ ØncXbpÅXv? \ymboIcn¡ pI     

 (8x3=24)

-MnO  4
(aq)

+
-I 

(aq)
MnO2(s)

+ I2(s)

CH -CH=CH  + HBr            A   +   B3 2

(Major)

(g)
CO  +  3H             CH     + H O2 4 2(g) (g) (g)

N    +   O           2 NO 2 2
(g) (g) (g)



(Un) 26þ30 hscbpÅ GsX¦nepw 4 tNmZy§ Ä¡ v D¯cw \ÂIpI.   4 amÀ¡ v hoXw

26. F) Xmsg ]dbp¶ Izm­w \¼dpIÄ D]tbmKn¨v ]cn{IaW]Yw Xncn¨dnbpI

i) n=1,   l =0

ii) n=3, l = 2

_n) t]mfnkv FIvkv¢q-j³ XXzw Fgp-Xp-I.

kn) HmI-vknP³ Bä¯nÂ tPmSnbmIm¯ F{X Cet{ÎmWpIÄ D­v? AXv \nÀ®bn¡ p¶ 

\nba¯n\v t]cv \ÂIpI.

27. F) F´mWv t_m­v HmÀUÀ?

_n) t_m­v HmÀUdpw t_m­v ssZÀLyhpw X½nepÅ _Ôw F´v?

kn) M.O  Ub{Kw D]tbmKn¨v HmI-vknPsâ ]mcmamKv\änIv kz`mhw hniZoIcn¡ pI.

28. F) Øncamb Xm] kw{Kl¯nsâ slÊnsâ \nbaw F´v? DZm-l-cW klnXw kaÀ°n-¡ p-I.

_n) tkmUnbw t¢mssdUv  cq]oIcW¯nsâ t_m¬ þ tl_À ssk¡ nÄ hcbv¡ pI.

29. F) F´mWv kwtbmPnX (tIm-© p-tK-äv) BknUv t_kv tPmSn?

_n)  CH -COONa bpsS Peob emb\n¡ v £ mc-Kp-W-am-Wv.  hni-Zo-I-cn-¡ pI.3

H 
kn) Hcp ioXf]m\ob¯nsâ P 3.6BWv.  ]m\o-b-¯nsâ kz`m-h-sa´v? 

Un) AknUnIv _^dnsâ sl³tUgvk¬ þ lmkÂ_mÂ¡ v kahmIyw FgpXpI?

30. HmÀKm\nIv kwbpà¯nsâ LS\sb hyXykvX coXnIfnÂ {]Xn\n[oIcn¡ m³ Ignbpw

F) C\n¸dbp¶ kwbpà§ fpsS L\o`hn¨ (I-­³kvUv) LS\ \ÂIpI.

a) b)

ii) C H O F¶ X·m{Xm t^mÀape D]tbmKn¨v kwbpà§ fpsS s]mkn-j³ sFtkmadpIÄ 3 8

Fgp-Xp-I.

iii) F´mWv saämadpIÄ?

O


